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QUESTION 1

A solution developer needs to determine why the latest update to a message flow does not work as designed. It is
thought that the latest update has not been deployed to the broker. What command can the solution developer use to
determine which BAR file is deployed? 

A. mqsilist 

B. mqsireadbar 

C. mqsireportbroker 

D. mqsireportproperties 

Correct Answer: A 

 

QUESTION 2

A bank uses an online system to handle currency transactions, sent via MQ messaging. To avoid multiple database
lookups to obtain the latest currency exchange rates, the rates are loaded into shared variables the first time the flow is
executed. Periodic updates to the shared variables are made using a control message. As the volume of transactions
increases, it is realized that a single instance of the flow can no longer cope, and so the solution developer is asked to
investigate ways to increase throughput. How can the solution developer increase the message throughput? 

A. Define multiple instances of the flow on the BAR file. 

B. Deploy the flow to multiple execution groups. 

C. Deploy multiple instances of the flow in different schemas. 

D. Deploy the flow to a second broker and use MQ Clustering to redistribute these messages. 

Correct Answer: A 

 

QUESTION 3

A bank uses Process Server to implement a supervisor based, credit line approval process. Once initiated, the process
does not return a response. This Process Server workflow needs to be started every time the Message Broker receives
a new credit increase transaction. To implement this requirement, a solution developer can design a message flow that
uses: 

A. Publication Node 

B. SCARequest Node 

C. a combination of SOAPAsyncRequest and SOAPAsyncResponse 

D. JavaCompute Node to invoke the process flow JAR files that are generated 

Correct Answer: B 
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QUESTION 4

A message flow needs to be designed such that available messages must be processed in sequential order. Missing
messages in the sequence must be discarded if they appear later. The solution developer implements this message
flow using Sequence and Resequence nodes. To meet the specifications for this message flow, how should the solution
developer wire the Resequence node? 

A. The Out, Expire, and Missing terminals should be wired together. 

B. The Out terminal should be wired, but the Expire and Missing terminals should be left unwired. 

C. The Out and Missing terminals should be wired together, and the Expire terminal should be left unwired. 

D. The Out and Expire terminals should be wired together, and the Missing terminal should be left unwired. 

Correct Answer: D 

 

QUESTION 5

A solution developer needs to use the recording data feature for auditing purpose. The expected message size is up to
10 MB and the target database is DB2. Aside from the default, what additional configuration(s), if any, does the solution
developer need to do? 

A. Use the supplied DB2 schema without changes. 

B. Update the DataCaptureStore configurable service to allow the extra size. 

C. Customize the supplied DB2 schema to increase the maximum message body size. 

D. Create a new database table to store the message body and configure the broker to use the new table. 

Correct Answer: C 
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